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Language: Sanskrit, Code: SN124
Buddhacharitam-Ill Canto, Grammer and Comprehension

TIME : 3.00 Hrs. Max. Marks : 80

Instructions :

1) Verify and ensure that the Question pap€r is completely printed.

2) Any discrepancies or Questions about the paper must be reported to the
HOD within t hour after the examination

3) Students must check the course title and code before answering the
Question paper.

tr*fri rffiq fu€ frmrd I

Write the correct answer
1. fr€rets frar a:?

1Ox1 = 1O

s) gdfi: e+r) vrd++:

2. qd wr
or) +{nT sn) *tfr

3. frrqrrfs Silq qrq ftqt
er) +fl erT)q
{lqr g{rq @ ewuzmrut

3{) IerEnd 3{r) Eqf,qrjt

EqR ry Erqqq eno',k6i

€{) {qfr eTr)q
wqiqfr$sr}:g@?
s{) *ruft eir) vgN:
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fugurfrry*:r&c:i
er) dqt: 3{r} 5St[:

STTT{: F+UI €GilA 6: Eq 3{Nft?

e{) gqtg' o+r) gq*g:

10. ErtR: fxi swt quftwftz
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9.

g) $rtF:

E) EQfuxr
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F) fuuqqri

F) rq&:

F) stt:

E) *tr:

s) vq*q:

F) s{sn{q
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rr lStI gFrB vtt ftrqffrf lxlo=lo
Answer any one of the following.

t. wedcrs iu qra E;.ff: aftrye y{*r ftsd
Write an essay on the date, place and works of Ashwaghosha.

2. g€Frfta israrer trffiR {Eivi fuqat
Write the summary of third Canto of Buddhacharitam.

rrr Ed fur{d: agEqtff ksat 2x4=8

Write short notes on ANY TWO of the following.

1) Rr€rt 2) qd: 3) reuutsdr 4) dwi Fffi
rv rE rf lde,r<q rgard ifar frEqtr |

Translate and explain ANY FOUR Shlokas.

1) rfrZw?nq rlrzi@t

4x4=16

+$q FTqql qqqg@ oTrf,rq?rrTruI korqqtt
2) s{li +qr gilqFrng: frrtqurrra frt frftpt

.rdfr wrqqfte qrqr *ile *i rssl g+qil
3) t gggt dmg+{ tfuqqQt S'trffir uulit

EtgwdEflmq{q*&@tt
4) tkl: g;qR: s€ q@flft g?n ftffi: kwqgr&t

Ggeur Effi ql5f1- qr+{ *an+gw:ll
s) qrdrrri$qEfrfr:grfi@t

duri CfuE$ur.ffiqrh €ffirfr Edfu rrg..qfin

6) aft€;rrni qe *eqrnm: ftryd E"gqtfu rr€.ErrrT:l

std€qr$qqqfrerrnw ;m egalfua rrgmm: I I

zqluri qlani lr<d frqgr I 3x4=tz
Explain with reference to context ANY THREE of the following.

1. erffIi qrrr EqF.iE€:t

z. vilqi q{i rtcrqsnq rErgi: I

3. fcgur{Mg:t
4. qrfi ERr q[q qfu l{tr: I
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vr $qaqrrqr vilflfrr ftrsd I

a) nR forq ftrqa (qsFr+q) I 5x1=5

1) udq: 2) a+q 3) qtqsn

4) Ersfr s) dsfr 6) w{ Ee

7) T6ffi 8) tdrrq
en) Tq qftsfii g;ua (qarqr}q) t 5x1=5

1)rr{ 2)EiEr 3)q
4) frfr@ s) qen 6) rilrmn:
7) E'a: 8) qdq:

E) q rr€rg rfltd ir?rs / e{s.'.f,mqqr frsat lx4=4
qurft qqqvr€r ag$s El:t qqril g-flI gg qdt ir*: vfitsr qqnt:

&urmrt {r qwct{rqirer }ernils g*t artr M grrqds
g*t tqqrfr qqri: a iwr &qrt

vrr qd6 v{qfu qGrar rsmrq rf,{rtr furct 5x2=10

x-gtr$A trtnT:t ftfuafrq crq-qm'at EqErt erit er& {quftffir
ftEfrffitqql qgfrqr gqruri rrftril qflrrql HH HqFTfi frsr*rRt srnr:
goqRl ua{ qqfr'ft*t:t spr* e6R ra: I Eng: Ei sq yqrftt sne
sfrqlft@t

HFIT:

r) Nguw u:t
z) rrqufudi frt
3) u'rdrH$effit
4) ra: 6ri {6fr?
s) qql: uei xatftr i

rL rtr rtr rL rL7ar 7ar 4! 'ai +


